

03/06/2023

**Vendor Ranking** 

Page 1 of 1

**Letting:** 04230303

Contract: E4W32-R0

**District:** District 4

Counties: DIST/ST-WIDE

Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

**Project(s):** 41715077201 (\*)

Contract Desc: TREASURE COAST GUARDRAIL & SIGN REPAIR - ROUTINE MAINTENANCE

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	SOUTHEAST HIGHWAY GUARDRAIL & ATTENUATORS, LLC	Responsive	Winning bid	\$151,095.26	100.00%
2	FLORIDA ROADWAY GUARDRAIL & SIG	Responsive	Non-Winning Bid	\$155,560.41	102.96%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED:

**BEGIN DATE:** 

03/28/23

**BEGIN TIME:** 

10:30 AM

END DATE:

03/31/23

**END TIME:** 

10:30 AM

NOTE: The award amount and contract performance bond shall be based on the maximum limiting budgeted amount of \$ 150,000.00 and not the contractors bid total.





**Tabulation of Bids** 

Page 1 of 11

**Letting:** 04230303 March 03, 2023 **Call Order:** 003 **Contract:** E4W32-R0

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 41715077201 (\*)

Contract Descr: TREASURE COAST GUARDRAIL & SIGN REPAIR - ROUTINE MAINTENANCE

The work under this Contract consists of all materials, labor, and equipment necessary to remove, repair, and/or replace guardrail sections and to furnish, install, repair and remove signs along State Roadways in St. Lucie, Martin, and Indian River Counties.

- MAXIMUM LIMITING CONTRACT: The award amount and contract performance bond shall be based on maximum limiting budgeted amount of \$150,000.00 and not the contractors bid total.
- PERFORMANCE BOND: A Contract / Performance bond is required for this project.
- GENERAL LIABILITY: The limits of coverage shall not be less than \$1,000,000 for each occurrence and not less than a \$5,000,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract, and may not be shared with or diminished by claims unrelated to the contract. The policy/ies and coverage described herein may be subject to a deductible. Pay all deductibles as required by the policy. No policy/ies or coverage described herein may contain or be subject to a Retention or a Self-Insured Retention.

	uantity Units	(1) SOUTHEAS GUARD	RAIL &	(2) FLORIDA GUARDRA			
() indicates item is bid as Lump Sum		ATTENUAT Unit Price	ORS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (ASP	HALT REI	PAIR (MANUAL) (	ΤN				
0005 0339 1 MISCELLANEOUS ASPHALT PAVEMENT	8.000 TN	100.00000	800.00	200.00000	1,600.00		
0010 0536 1 3 GUARDRAIL- ROADWAY, DOUBLE FACE	75.000 LF	20.00000	1,500.00	9.00000	675.00		
0015 0536 7 2 SPECIAL GUARDRAIL POST- SPECIAL STEEL POST FOR CONCRETE STRUCTURE MOUNT	3.000 EA	65.00000	195.00	10.00000	30.00		





# **Tabulation of Bids**

Page 2 of 11

Letting	j: 0 <sub>-</sub>	4230303	March 03, 2023	Call O	rder: 003		Contract:	E4W32-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) SOUTHEAST   GUARDRA	IL&	(2) FLORIDA GUARDRA			
() indi	icates item is bi	d as Lump Sum		ATTENUATOR Unit Price E	S, LLC ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REP	AIR (MANUAL) (TN					
	0538 1 RAIL RESET		300.000 LF	11.00000	3,300.00	2.50000	750.00		
SINGLE	0700 1 11 POST SIGN, UP TO 12 SI	F&I GROUND	3.000 AS	370.98000	1,112.94	850.00000	2,550.00		
SINGLE I	0700 1 12 POST SIGN, 12-20 SF	F&I GROUND	1.000 AS	1,273.64000	1,273.64	2,000.00000	2,000.00		
SINGLE I	0700 1 13 POST SIGN, 21-30 SF	F&I GROUND	1.000 AS	1,635.02000	1,635.02	2,200.00000	2,200.00		
	0700 140 POST SIGN,	INSTALL	4.000 AS	321.00000	1,284.00	0.01000	0.04		
	0700 1 50 POST SIGN,	RELOCATE	10.000 AS	254.96000	2,549.60	400.00000	4,000.00		
	0700 160 POST SIGN,	REMOVE	7.000 AS	29.35000	205.45	25.00000	175.00		
MULTI- F	0700 2 13 POST SIGN, I 21-30 SF	-&I GROUND	2.000 AS	4,462.41000	8,924.82	4,875.00000	9,750.00		
MULTI- F	0700 2 14 POST SIGN, I 31-50 SF	F&I GROUND	1.000 AS	4,979.95000	4,979.95	7,400.00000	7,400.00		





# **Tabulation of Bids**

Page 3 of 11

Letting	g: 04	1230303	March 03, 2023	Call C	Order: 003		Contract:	E4W32-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) SOUTHEAST GUARDRA	JL &	(2) FLORIDA GUARDRA			
	dicates item is bi	d as Lump Sum		ATTENUATOR Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REP	AIR (MANUAL) (TN					
	0700 2 15 POST SIGN, F , 51-100 SF	F&I GROUND	1.000 AS	6,905.19000	6,905.19	9,400.00000	9,400.00		
0070 MULTI- RELOCA		GROUND MOU	2.000 NT, AS	4,671.50000	9,343.00	3,500.00000	7,000.00		
0075 MULTI-	0700 260 POST SIGN, F	REMOVE	5.000 AS	839.19000	4,195.95	600.00000	3,000.00		
0080 SIGN PA GROUN	0700 3101 ANEL, FURNIS ID MOUNT, UF	SH & INSTALL P TO 12 SF	5.000 EA	225.95000	1,129.75	400.00000	2,000.00		
	0700 3102 ANEL, FURNIS ID MOUNT, 12	SH & INSTALL 2-20 SF	2.000 EA	441.56000	883.12	600.00000	1,200.00		
	0700 3103 ANEL, FURNIS ID MOUNT, 21	SH & INSTALL -30 SF	2.000 EA	950.07000	1,900.14	2,000.00000	4,000.00		
	0700 3104 ANEL, FURNIS ID MOUNT, 31	SH & INSTALL -50 SF	2.000 EA	1,118.46000	2,236.92	2,300.00000	4,600.00		
	0700 3105 ANEL, FURNIS ID MOUNT, 51	SH & INSTALL -100 SF	1.000 EA	2,500.59000	2,500.59	3,500.00000	3,500.00		
	0700 3201 ANEL, FURNIS EAD MOUNT,	SH & INSTALL UP TO 12 SF	10.000 EA	661.61000	6,616.10	900.0000	9,000.00		



Page 4 of 11

## Florida Department of Transportation



# **Tabulation of Bids**

Letting:	04	1230303	March 03, 2023	Call C	Order: 003		Contract:	E4W32-R0	
	o / Item ID escription	Alternate	Quantity Units	(1) SOUTHEAST GUARDRA	AIL &	(2) FLORIDA GUARDRA			
() indica	ates item is bio	d as Lump Sum		ATTENUATO Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MANUAL) (TN					
SIGN PAN	700 3202 IEL, FURNIS AD MOUNT,	6H & INSTALL 12-20 SF	5.000 EA	1,119.23000	5,596.15	1,300.00000	6,500.00		
	700 3401 IEL, INSTAL	L, UP TO 12 S	10.000 F EA	136.99000	1,369.90	200.00000	2,000.00		
	700 3402 IEL, INSTAL	L, 12 <b>-</b> 20 SF	10.000 EA	363.95000	3,639.50	0.01000	0.10		
	700 3403 IEL, INSTAL	L, 21 <b>-</b> 30 SF	4.000 EA	650.00000	2,600.00	0.01000	0.04		
	700 3404 IEL, INSTAL	L, 31-50 SF	2.000 EA	825.00000	1,650.00	0.01000	0.02		
	700 3405 IEL, INSTAL	L, 51-100 SF	1.000 EA	1,000.00000	1,000.00	0.01000	0.01		
	700 3601 IEL, REMOV	/E, UP TO 12 S	10.000 SF EA	35.00000	350.00	10.00000	100.00		
	700 3602 IEL, REMOV	/E, 12-20 SF	4.000 EA	50.00000	200.00	10.00000	40.00		
	700 3603 IEL, REMOV	/E, 21-30 SF	6.000 EA	85.00000	510.00	100.00000	600.00		





# **Tabulation of Bids**

Page 5 of 11

Letting:	04230303	March 03, 2023	Call C	order: 003		Contract:	E4W32-R0	
Line No		Quantity Units	(1) SOUTHEAST GUARDRA	IL &	(2) FLORIDA GUARDRA			
	es item is bid as Lump Sum		ATTENUATOR Unit Price	RS, LLC ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SI	ECTION: 0001	(ASPHALT REP	AIR (MANUAL) (TN					
	00 3604 L, REMOVE, 31-50 SF	5.000 EA	220.00000	1,100.00	200.00000	1,000.00		
	00 3605 L, REMOVE, 51-100 SF	1.000 EA	400.00000	400.00	500.00000	500.00		
GUARDRAII	36 3141 L STANDARD PANEL (SHOP BENT)	49.000 LF	8.00000	392.00	7.50000	367.50		
	36 3142 L STANDARD PANEL (0' - 50')	800.000 LF	22.00000	17,600.00	22.00000	17,600.00		
	36 3143 L STANDARD PANEL (51' - 200')	350.000 LF	8.00000	2,800.00	19.00000	6,650.00		
	36 3144 L STANDARD PANEL (> 200')	150.000 LF	8.00000	1,200.00	19.00000	2,850.00		
	36 3242 L THRIE BEAM (REPLA)	40.000 CE) LF	70.00000	2,800.00	12.00000	480.00		
	36 3540 L (PIPE RAIL) (REPLACE	60.000 E) LF	15.00000	900.00	17.00000	1,020.00		
	36 3642 L DOUBLE FACE (REPLA	216.000 ACE) LF	7.00000	1,512.00	12.00000	2,592.00		



Page 6 of 11

## Florida Department of Transportation



Letting:	: 04230303	March 03	2023	Call Ord	er: 003		Contract:	E4W32-R0	
	No / Item ID Alt Description	ernate Quan Unit	-	(1) SOUTHEAST HIG GUARDRAIL	&	(2) FLORIDA GUARDRA			
	cates item is bid as Lump			ATTENUATORS, Unit Price Ext	LLC Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHAL	T REP	AIR (MANUAL) (TN					
	E536 3643 RAIL DOUBLE FACE ( ')		000 LF	6.50000	487.50	12.00000	900.00		
	E536 3644 RAIL DOUBLE FACE (		000 LF	5.00000	200.00	12.00000	480.00		
	E536 5 1 EAM (TERMINAL CO		000 EA	1.00000	1.00	100.00000	100.00		
	E536 5 2 EAM (RAIL SPLICE)	1.	000 EA	1.00000	1.00	10.00000	10.00		
	E536 5 3 EAM (TRANSITION S		000 EA	200.00000	200.00	100.00000	100.00		
	E536 5 4 EAM (MODIFIED OFF		000 EA	6.00000	6.00	25.00000	25.00		
	E536 6 45 CHORAGE ASSEM (R T 2000)		000 EA	0.10000	0.20	1.00000	2.00		
	E536 6 46 CHORAGE ASSEM (R )		000 EA	750.00000	750.00	100.00000	100.00		
	E536 647 CHORAGE ASSEM (R R WALL)		000 EA	750.00000	750.00	100.00000	100.00		



Page 7 of 11

## Florida Department of Transportation



Letting:	: 04230303	March 03, 2023	3 Call	Order: 003		Contract:	E4W32-R0	
	No / Item ID Altern Description	ate Quantity Units	(1) SOUTHEAS <sup>*</sup> GUARDR	AIL &	(2) FLORIDA GUARDRA			
	cates item is bid as Lump Su		ATTENUATO Unit Price	DRS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHALT REF	PAIR (MANUAL) (T	N .		1		
	E536 6 48 CHORAGE ASSEM (REP RT-350)	1.000 LACE) EA	2,600.00000	2,600.00	100.00000	100.00		
	E536 6412 CHORAGE ASSEM (REP ELT)	1.000 LACE) EA	0.01000	0.01	100.00000	100.00		
	E536 6414 CHORAGE ASSEM (REP RT-350/8)	2.000 LACE) EA	750.00000	1,500.00	100.00000	200.00		
	E536 6424 CHORAGE ASSEM (REP EL)	1.000 LACE) EA	4,200.00000	4,200.00	5,000.00000	5,000.00		
GUARDR	E536 12605 RAIL REPAIRS (REPLACI POST IN ASPH.)	60.000 ≣) EA	95.00000	5,700.00	120.00000	7,200.00		
GUARDR	E536 12608 RAIL REPAIRS (REPLACI POST IN ASPH.)	80.000 ≣) EA	65.00000	5,200.00	40.00000	3,200.00		
	E536 12613 RAIL REPAIRS (REPLACI	75.000 E) (RUB EA	50.00000	3,750.00	10.00000	750.00		
GUARDR	E536 12616 RAIL G(REPLACE)(OFFSET BL	197.000 EA .OCK)	10.00000	1,970.00	45.00000	8,865.00		
	E536 15 ANEOUS GUARDRAIL NANCE	379.880 LF	1.50000	569.82	2.50000	949.70		



Page 8 of 11

## Florida Department of Transportation



Letting	<b>):</b> 04	1230303	March 03, 2023	Call C	<b>Order:</b> 003		Contract:	E4W32-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) SOUTHEAST GUARDRA	IL &	(2) FLORIDA GUARDRA			
	-	d as Lump Sum	56	ATTENUATOR Unit Price	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(ASPHALT REF	PAIR (MANUAL) (TN					
END ANG		M TYPE II TRAI ACE EXISTING	1.000 LING EA	1,000.00000	1,000.00	2,500.00000	2,500.00		
END ANG	E536301501 CHOR ASSEN END SECT)	M TYPE II (REF	1.000 PL EA	200.00000	200.00	125.00000	125.00		
END AND	E536304507 CHOR ASSEN END SECTION	M MELT (REPL DN)	1.000 EA	200.00000	200.00	1.00000	1.00		
END ANG	E536306501 CHOR ASSEN LEND SHOE)	M BRIDGE (RE	1.000 PL EA	1.00000	1.00	1.00000	1.00		
END AND	E536306503 CHOR ASSEN FILL BLOCK)	M BRIDGE (RE	2.000 PL EA	1.00000	2.00	50.00000	100.00		
END ANG	E536308507 CHOR ASSEN END SECT)	M SRT-350 (RE	1.000 PL EA	200.00000	200.00	1.00000	1.00		
CRASH (	E544 8 2 CUSHION ST ADJ MAINTA	TANDARD MAII NN)	1.000 NT EA	100.00000	100.00	500.00000	500.00		
	E544 76 1 CUSHION (R	ESET)	2.000 EA	2,500.00000	5,000.00	500.00000	1,000.00		
ATTENU	E544031001 IATOR (QUAE R PANEL)	OGUARD) F&I	1.000 EA	500.00000	500.00	1,000.00000	1,000.00		



Page 9 of 11

## Florida Department of Transportation



Letting:	04230303	March 03, 2023	Call O	rder: 003		Contract:	E4W32-R0	
	o / Item ID Alternat	e Quantity Units	(1) SOUTHEAST I GUARDRAI	L&	(2) FLORIDA GUARDRA			
	ates item is bid as Lump Sum		ATTENUATOR Unit Price E	S, LLC xt Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION: 0001	(ASPHALT REP	AIR (MANUAL) (TN					
	E544031020 .TOR (QUADGUARD) F&I .M)	1.000 EA	1,500.00000	1,500.00	1,000.00000	1,000.00		
ATTENUA	E544031027 TOR (QUADGRARD) F&I RFLT-9 BUTTON)	1.000 EA	10.00000	10.00	50.00000	50.00		
ATTENUA	E544031039 TOR (QUADGUARD) F&I DGE ASSEMBLY)	1.000 EA	1,500.00000	1,500.00	1,100.00000	1,100.00		
	E544031040 TOR (QUADGUARD) F&I SSEMBLY)	1.000 EA	1,500.00000	1,500.00	1,200.00000	1,200.00		
ATTENUA	E544031042 TOR (QUADGUARD) F&I ASSM TEN STRT)	1.000 EA	1.00000	1.00	100.00000	100.00		
ATTENUA	E544031043 TOR (QUADGUARD) F&I ASSM CONCRETE)	1.000 EA	1.00000	1.00	100.00000	100.00		
ATTENUA	E544031044 .TOR (QUADGUARD) F&I AIL, 1 BAY)	1.000 EA	1.00000	1.00	10.00000	10.00		
ATTENUA	E544031045 .TOR (QUADGUARD) F&I AIL, 2 BAY)	1.000 EA	1.00000	1.00	10.00000	10.00		
ATTENUA	E544031046 .TOR (QUADGUARD) F&I AIL, 3 BAY)	1.000 EA	1.00000	1.00	10.00000	10.00		





# **Tabulation of Bids**

Page 10 of 11

Letting	<b>y</b> : 04230303	March 03, 202	3 Call C	Order: 003		Contract:	E4W32-R0	
	No / Item ID Alter Description	nate Quantity Units	(1) SOUTHEAST GUARDRA	AIL &	(2) FLORIDA GUARDRA			
	icates item is bid as Lump S		ATTENUATO	RS, LLC Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(ASPHALT RE	PAIR (MANUAL) (TN					
	E544031047 JATOR (QUADGUARD) F ROOM BOLT ASSM)	1.000 F&I EA	1.00000	1.00	1.00000	1.00		
0385 SIGN PA	E700 30 1 ANEL OVERLAY, SINGLE	12.000 E POST SF	100.00000	1,200.00	20.00000	240.00		
0390 SIGN PA	E700 30 2 ANEL OVERLAY, MULTI	6.000 POST SF	150.00000	900.00	100.00000	600.00		
0395 SIGN PA	E700 30 3 ANEL OVERLAY, OVERH	1.000 HEAD SF	300.00000	300.00	600.00000	600.00		
	0001 ASPHALT REPAII (MANUAL) (TN		l	\$151,095.26 <sup>1</sup>		\$155,560 <b>.</b> 41		
	Contrac	t Grand Totals:		\$151,095.26		\$155,560.41		



03/06/2023

#### **Tabulation of Bids**

Page 11 of 11

**Letting:** 04230303 March 03, 2023 **Call Order:** 003 **Contract:** E4W32-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.